JAnd¢epenuuanbHbie ypaBHEHUS
[TpakTuka 1.
Y ¢ pazaensrommMucs nepeMeHHbIMA

3901. (xy? + X)dx + (y — x2y)dy =0
3904.y'tgx—y=a
3909. y' =10

3910. y'+sinXL2y —sin2=Y

2
3932.y'=3x-2y+5

3916.y —xy' =b@+ x?y") y(@)=1

3939. xy' — y = /X% + y?

3946. (y? —3x?)dy + 2xydx =0 y(0)=1

2 2
—2Xy — X
Sy =-1

y2 +2xy — X°

3947. y' =

1. (x* = 2y?)dx + 2xydy =0
y
2. Xy'=y+x@@+e*) y@®=0
3. (x+2y-5)dx+(2x—y+4)dy =0
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1+ y? =C(1-x?%)

:y=Csinx—a

: 10" +107Y =C

y

4

4y —6x—7=Ce ¥
b+ x

y:1+bx

. x> =C?+2Cy

3= y2 %2

: In|tg

:C—Zsing, y =47k

y=-X

Homa: bepman I'.H. COopHUK 337124 IO KypCy MaTeMaTUYECKOTO aHaIu3a
3903, 3905, 3908, 3913, 3933, 3941, 3943, 3945, 3954



